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Chlorobenzene is formed by reaction of chlorine with benzene in presence of AICls.
Which of the following species attacks the benzene ring in this reaction?
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A) CI- B) AICI;

c) cIt D) [AICl4]~

What should be the correct IUPAC name for diethylbromomethane ?
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Reagents for following conversions is/are
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In this reaction
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A and B respectively are
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Which of the following species can act as the strongest base ?
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A) HO- B) RO-

C) CoHsO- D) ‘D_Q
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Reimer- Tiemann reaction is useful for the preparation of
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A) Benzaldehyde B) Salicylaldehyde
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C) Toluene D) Acetophenone
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Which of the following alcohols give iodoform test ?

A) Butan-1-ol B) Propan-1-ol
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C) Propan-2-ol D) Ethanol
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In this following reaction, the product(s) formed is (are) —
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Two aromatic compounds having formula C7HgO, which are easily identifiable by
FeCls solution test (violet colouration) are:
C,H;0 S 7 /8 (1 1310 SHICACAHI (NP FeCly T AT 7141 T2CS F1e 341 IR 2

A) 0- Cresol and Benzyl alcohol
0 — (T G2 (G2 SRTCPIZET

B) m- Cresol and p- Cresol
m- (P QR p - (&

C) o- Cresol and p- cresol
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D) Methyl phenyl ether and Benzyl alcohol
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Total number of isomers possible for the molecular formula C4H100 is-
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Which will be the major product in the following reaction ?
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Which one of the following compound undergoes Sn* substitution reaction faster?
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Cl
A) j; B) /F

cl
C) D)  cH,CI

Which one of the following compound undergoes Sn? substitution reaction faster ?
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A) NN B) MCI

C) A~ | D) N Br



14. Which of the following structure is enantiomeric with the molecule (A) given below ?
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15. The aldol condensation of acetaldehyde results in the formation of —
SIACGETGRIZ (T SHETCH I [ T (il —

|c|:: OH OH

A) CH3-C-CH-CHj B) CHa-CHz—CH—ﬁ—H
o
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C) CH3-CH-CH,-C-H D) CH3-CHz-OH + CH;-COOH



